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(1. Letter Series )
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* Choose correct option for the blank space or question mark.
Q.1) BEAG, DGCL, FIEK, ?
Answer Options :
1) HMEI 2) HKGM 3) HGKJ 4) HKLJ

Q.2) DF, GJ, KM, NQ, RT, ?
Answer Options :
1) UW 2)YZ 3)XZ 4) UX

Q.3) AAC BBD CCEEEGF ??
Answer Options :

1) FG 4) DG
Q.4) BE, HK, NQ,/
Answer Options ;

1) PR 4) UW
Q.5) CGK, FIN,

Answer Options o

1) SPL 00 2) 3) LB{)%O 4) QLP
7 < [@ y
Q.6) YXW, UTS, QPOML , _ -
anewer Options s\ SRUTA STHEH]

1) LM 3)KI 4) TH

Q.7) ZX TR NLJ FD
Answer Options :

1) VPHB 2) UPJB 3) VRHB 4) VPIB

Q.8) AB, DC, EF, HG, 1J, LK, ?
Answer Options :
1) LM 2) NM 3) MN 4) ML

Q.9) AOP, CQR, EST, GUV, ?
Answer Options :
) IYZ 2) HWX 3) IWX 4) JWX

sff Ty TuTte, YRghe TTEsRl |HKR, & 4.3, U e, Amreh—¥oo ook. [N 1 I
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Q.10) DHL, PTX, BFJ, ?
Answer Options :

|
|
|
|
. D NRV 2) RVZ 3) CGK 4) KOS

'Q.11) DEF, HIJ, MNO, ?
'Answer Options :

1 1) IKJ 2) STU 3) OPQ 4)XYZ

Q.12) DCXW, FEVU, HGTS, ..........
/Answer Options :
1) LKPO 2) JIRQ 3) ABYZ 4) LMRS

|

Q.13) 2B, 4C, 8E, 14H, ? \\ | / /

‘Answer Options : N\ /

B Vi 2) 16K~ 3)20L 4) 221

| y | %

Q.14) C4X, FOU, I &v ' )

‘Answer Options : [ =J 2

. DLasp °~°l 2) Kzs% 004 L250
s o

Q.15) B,E, LN, T, o)

DA 2)R 3z \Y%

&
Answer Options : 0) E &a‘ /\ Y
al
{

Q.16) AZY, BXW, CVU, D 27 >

/Answer Options :
1) ST 2) RQ 3) QR 4) RS

Q17) G, H, M, 72,V
Answer Options :

|
|
|
HU 2)Q 3)S 4R

Q.18) AC, AE, AG, Al, A?
/Answer Options :
| )N 2)P 3)Q 4)K

Q.19)AE, 1,2, U
'Answer Options :
M 2)0 3)T 4

| sty sTuTétiz, IR TS AR, @A 7.3, UL wierl, A1vtR-voo ooz, [N 2 I
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Q.20) AZ, XB, VT, CR, ?
Answer Options :
1) PD 2) EQ 3) QE 4) 0Q

Q.21) BF, CH, ?, HO, LT
Answer Options :
1) EK 2)FJ 3) DN 4) EL

Q.22) OM, KQ, HT, ?
Answer Options :

1) FV 2)YC 3) XD 4) WE
e~

Q.23) ACE, GIK, ?
Answer Options :

1) MOP

, SUW, AC\\\|//‘

2

4) MOQ

Q.24) ACE, GIK, /! Quw
Answer Options i~
1) LMN oo

20Q ] ﬂ) oP 4) QRS
Q.25) EGI, JLN, @
Answer Options :

1) TVX 2)@ &q 3) WW 4) FHI

Q.26) EDBA, KIHG, QP °|9‘{ I STehsH]
Answer Options :

1) ZXUX 2) WVTS 3) KIGH 4) QOMK

Q.27) ZYX, WVU, ?, QPO
Answer Options :
1) RTS 2) TSR 3) STR 4) UTR

Q.28) PZLT, QYNR, RXPP, SWRN, TVTL, ?
Answer Options :

1) VKVK 2)yvuulJ 3) UVUK 4) UuVv]J

Q.29) ?, PSV, EHK, TWZ, ILO
Answer Options :
1) BEH 2) IMP 3) ADG 4) ZCF

sff Ty TuTte, YR TTESRl |HR, & 4.3, U e, Amteh—¥oo ook. [N 3
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Q.30) APGL, CQIM, ERKN, ?
Answer Options :
‘ 1) FSMN 2) FSLM 3) FSOK 4) FOLS
Q.31) FLP, INS, LPV, ?
/Answer Options :
| 1) UXZ 2) SVW 3) ORY 4) VXY
i
Q.32) AEL IMQ, QUY, ?
‘/Answer Options :
\ 1) YCG 2) MNO /\3)MQV 4) IEA
‘Q.33) BXIJ, ETL, HPN, KL \ \ | / /
Answer Options : N\ 4
- DNR 2) MHQ. ».3)NHR 4) MIP
&
Q.34) prt, 2, bdf, hj Gﬁ' ; -
'Answer Options : ~J
| 1) vxz q 2) urb % ~ 4) vya
| -0
Q.35)Z, X, V, T, R) dé
/Answer Options : 0 a‘ 8:
| 1) O,K JN,M ;K,S 4)P,N
Q:36)G, 1, L,P,? AR 3TcheHl
‘Answer Options :
| 1) E 2)U )V 4)X
Q.37) G, L,P,?
'Answer Options :
E 2)U )V 4) X
[
Q-38) BFH, ZDE, IDF, NP, T ? ?
‘Answer Options :
1) WX 2) XY 3) ZA 4)XZ
Q.39) AEFJ, KOPT, UYZD, .......
/Answer Options :
| 1) FIMN 2) EIJN 3) FKLM 4) EHIM

| sty eTuTétie, IR TS WHR, @9 7.3, UL e, A¥TER—¥oo ooR.
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Q.40) DFI, KMP, ?, YAD
Answer Options :
1) QSV 2) RTW 3) SUX 4) RTV

Answer Key

Q| A | Q| A | Q| Al Q]| A
12 | f2 | 211 |31]3
2 4 ,y 2 _lzT 1| 321
313 (i1 [l24) 4| D] 3
4 | 3| 14 4 2 | 34| 1
5/ 3115 1 1 359 4
65 3 | 164 2 2 | 36| 2
O 1 g 2 2 37 ]2
s\c 3 | 48~ 4 4 |38 | 4
o\ 3 |19 |2t 3| 39 2
0] 1|20/ 1 %) 1 | 40 | 2
Hehs

g
£

sff Ty TuTeHe, YRghe TTESHl |HR, & 4.3, Ui e, Amteh—-¥oo ook. [N 5 I



T TN AheHT

MPSC / UPSC 4y 7887878001/ 7887878002 PSI/STI/ASO

IS0 9001-2015

(5. Code Language )

Q.1) In a sign language the sentence 'cinderella a shouted for rescue' would be written
as 'pr co ly bu'. The sentence 'rescue all the bugs' would be written as 'ke mt co rx'. The
sentence 'bugs ate all carrots' would be written as 'vg rx ke sh'. And if the sentence
'carrots for pretty cinderella' is written as 'ly pr vg as', in the same sign language

What codes would be used for the sentence 'rescue for cinderella'?
Answer Options :

1) ke rx mt 2) lyrx vg

3) gy shas 4) prco ly

Q.2) A sign language uses the symbols 'ba lo sul' for 'sun shines brightly', 'kado ula ari
ba' for 'houses are brightly ligh#7and dopilkup lo e for 'light comes from sun'. If yes-

what are the symbolje’codes &\ed\fo 's/,l%nd 'bri
N\ ,

Answer Options :

1) ba, sul 4) ba, lo

~C
Q.3) In a sign lan m pit na sa' g7 B pa la' means 'they are
very good,' ka da alieans who €0t ) ho pit la' meafis<they welcome good

people' so which ohc code is used fon in this 51g uage?
Answer Options

1) od 0 2) I 3) ho !.3 4) Pit
Q.4) In a sign langu

: 1 Lip mo ing is ap}«?? le', 'mot baj min' means
'dancing is good' and hop baj means sin 1n% and dancing/ so which one stands for

the word 'good' accordin to

o

Answer Options :
1) not 2) baj 3) min 4) tip

Q.5) In a sign language 'min fin bin gin' means 'trains are always late'; 'gin din cin hin'
means 'drivers were always punished'; 'bin cin vin rin' means 'drivers stopped all trains'
and 'din kin fin vin' means 'all passengers were late' then which code can be used for
'drivers were late'?
Answer Options :

1) min cin din 2) fin cin din

3) fin din gin 4) gin hin min

Q.6) For 'go for morning walk' according to a notational system '$* ? #' is used, '© ? @'
1s used for 'good for health' and '+@1#' is used for 'good to walk fast', which is the
notation for 'health' in the same notation system?

sff Ty TuTte, YR TTESRI |HR, & 4.3, Ugia e, Amvreh—¥oo ook. [N 33
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'Answer Options :
|
\

|
\
e HOER TheH! I
|
|
\

)+ 2) # 3)© 4)?

1Q.7) According to a notation system 'A * O' means 'green alliance formed'; "* + +' means |
'Join clean alliance' and '# + A' means 'green clean peace', so which word is the symbol
'+' used in this sign language?

'/Answer Options :

1) Green 2) Clean 3) Peace 4) alliance

Q.8) The following table gives some letter code indications for a digit. Also some
conditions have been given. Subject to those conditions, identify the correct notation for
the following digit groups.

Conditions :
(1) If the

nd the last dig% n even number, the
(ii) If thd fisét digit is a i @ an odd number,

be indicated for the

digit 0.
328469
| Answer Options :

" 1)YBNDTM
|

4) YBNDTY

‘Q.9) Some letter code indications for digits are given in the following tables. Also some
conditions have been given. Subject to those conditions, identify the correct notation for

' the following digit groups.
|
| number| 7| 35| 0(2|1|6[4 |9 8

| code [N[H|[L [T|F|D[R|[Q|G|P
|Conditions :

|
|
\
\
\
|
|
|
\
\
\
|
|
|
\
\
\
|
|
|
\
\
\
|
|
|
\
\
\ I) If the first digit is an even number and the last digit is an odd number, they |
\ should be coded $ and @ respectively. \
\ IT) If the first digit is a subject number and the last digit is an even number, \
|

‘ they should be coded # and © respectively.

| sty sTuTétiz, I TS AR, @A 7.3, UL wierl, AMvtR-¥oo ooz, [N 34 I
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IIT) If there is an odd digit before and after the digit 0, indicate 1 code for '0'".

IV) If there is an even number before and after the digit 0, indicate | code for '0'.

36250098=?

Answer Options :
1) SRFLTTZG©O© 2) #RFLTTGO©
3) #RFL11GO 4) SRFLTTG@

Q.10) In the first line the digit groups are given and in the second line their letter/symbol
codes are given.

number| 5| 3|7 |4 12|86 |1 [0 9

code | B| Z4FTA F|% |[R| M
Below is a number group. Al\sNh& anﬁi}/or}s are giwen. Subject to those conditions
select the correcyoption haying t er/symbol code df the given digit group.
Conditions : o
1) If the first st digits of are 0dd then cgdeé \X' should be assigned
to both. [Q0O ~ Q
2) If the firs % last digits of th P n, then' uld be given to both
of them. | =7y Aﬁﬁ
3) If the last\digib in thesgroup-is-0'thcn-code-it-as-'#'.
Digit Group : 734
Answer Options : ?fl‘&q
1) SFMKE*$ 2) XEKFMA* o 4) @FKME*A

T%? o

“TiIX1

Q.11) In the first line the nu rs / symbols are giv. cﬁi in the second line their codes
are given.

numbers /symbols| 4 (@ | 5 [ A [+ [2|T [8 |&| # |%|6]|3 |$ |9
letter/code | HHD (A |T|U|E[(M|L |P|Z |BIK|X |G|Y
Conditions :
1) If the first element and the last element in the group are symbols, their codes
should be interchanged.
i1) If the symbol in the group is preceded and immediately followed by a digit,
code 'l' for that symbol.
i11) If the last element of the group is an odd number, give the code of that odd
number for the second element of the group.
iv) If the third element of the group is an even digit, then its symbol code and
the symbol code of the first element should be interchanged.
Subject to the above conditions select the appropriate option having the letter

code of the digit / symbol group given below.
sff Ty TuTeHe, YR TTESRl |HR, & 4.3, U e, Amreh—¥oo ook. [ 35 I
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| Number / Symbol Group: #@?23 + 42
| Answer Options :

' 1)ZDXI1HE 2)EDKUHZ

' 3)ZKE1DH HEDKI1HZ
|

Q.12) Below are some words given in column I. Their indications are given in column
II. Also identify the clue used for the letters in each word by matching their correct pairs
'whether they are paired or not and then answer the questions below.

columnT1 column 11

1) TAPE A) moij

SOUP
/Answer Options :

| 1) osmj
\

4) somj

'Q.13) in a sign language
| 256 stands for Red Color Chalk

| 589 means Green Color Flower

254 stands for White Color Chalk'

| So what symbol is used for the word "White' in this code language?
‘Answer Options :

\ 1)2 2)4 3)5 4)8
\

‘Q.14) Some codes and terms are given below.

| sty sTuTétie, IR TSl WAR, W 7.3, UL wier, ATE—goo ooz. [N 36 I
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letter | Bl M| K| A[T|(R|E [U|N|(H| F|I|W[D|P
(code)| 7% | 5|©|6]|9|8 |2 |@| 1| #|$]|3 4

*

1) If the first letter is a vowel and the last letter is a consonant, code both with the
vowel code want to do

i1) If the first letter is a consonant and the last letter is a vowel, their codes are to be
interchanged.

iii) If both the first and last letters are consonants, both are to be coded with the

code of the last letter.
Based on the above information select the coded forms of the given alphabet.
Character group : RNWDEF

Answer Options :

1) 9@3*8# 2) #@3}&#\ | //, 3) H@H89 4) #3*@8H#

Q.15) Vocabulary cias follgws. Thephra ing problem with
health' is denoted g hlth problem on rise'@sAénoted by
alienge’ 1 buegre. Choose the

'grnywlbuebla’ and™sise with every ch e' ted by r@
most logical clue mﬁday'. [o'e)
Answer Options '\

1) ywlrdwhi

Whlblagr

ME

Q.16) In a sign language m jo'. 'door is closed' is written
as 'Jo pa ma' and 'this is good' Tsswitten as 'la ra pa=So what is the indication of 'closed'?

Answer Options :
1) ma 2) pa 3)Jo 4) ka

Q.17) According to one notation system, the notation for 'bright fresh sunny day' is 'mee
rig koh muf'. The allusion to 'fragrance of fresh flowers' is rig pokog hez. The clue to
'bright colors of baskets' is * net muf nuk pok * and code for  basket filled with flowers ’
s ¢ pit net og jec’ Use this information to select word groups that cannot be fully
decoded.
Answer Options :

1) Fragrance of fresh flowers: 2) Colors of bright flowers.

3) basket of fresh flowers. 4) Bright flowers filled baskets

sff Ty TuTeHe, YR TSRl |HR, & 4.3, Ugia e, Amreh—¥oo ook. [ 37 I
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Q.18) Next given are the decoded words from artificial language.
chikerkurrip means birdhouse; phyckurrip means bluebird ; phycbrell means
bluebell. Choose the artificial language representation of the word houseguest.
Answer Options :
1) dropchiker 2) chikerrdrop
3) chickerrphye 4) bellchicker

Q.19) In the first line the numbers / symbols are given and in the second line their letter
codes are given.

number /symbol [ 4 | % |3 |9 |$ |1 |8 |@ [© |2 |#|5|6|* |7 |6
letter/ code | P|M | I | T R ~H| A|E|V|N|B|G|L

symbol group.
Conditions :

their cofl&s«$hould be interch#hged.
ii) If the firkStinciple O%
both sho coded.-with-a-numerical.code.

and last elements are even digits,
iv) If both the )nd last elﬂ

2

the lag nciple is a symbol,
N

oth as 'X'".
should be coded as

Answer Options :
1) TRQINH 2) RQJ 3) NHIQRT 4) ROTJNH

Q.20) Number symbols of three words REST, MITE, STIR and TRIM unordered: the
list is 1456, 3154 and 4231. Choose the clue for the word SEMI:
Answer Options :

1) 5625 2) 4265 3) 3265 4) 3526

sfiFTer eruTdtie, gighe TSl WUR, & 4.3, Ui wie, aivte-xoo oo3. [N 38 I
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Answer Key

Q| AlQ | A
R TR
2 | 3 | 122
301|132
4 | 3 | 14| 2
5 1 2|15 4
6_1 3 1o 1
2 |17/ 4
3 2
2 | B 2
1 [20] 3

off e STuTeHe, e SISl THR, @4 4.3, UL shia!, Arvteh—xoo oo3. [N 39 I
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( 14. Coding-Decoding )

1/ STI/ASO
\
\
\
\

* Taerean gwA= T sW faE.
Q.1) R, LEADER =1 wsg 20- 13- 9- 12- 13- 26 3@t ferdten e s/@a ® LIGHT
71 9Teg AT forgret ?
it I
1) 20-16-17-15-27 2) 20-15-16-18-23
3) 20-17-15-16-28 4) 20-16-15-17-22

Q.2) 58 CENTURION 71 3158 325701465 st RANK =1 9158 1859 aﬁn e

AT @A W 7859 = ?
TR I

1) BANK

Q.3) X FAN @1 , 26, 13 3 maar@vrm% D 71 9158 e foreTe ?

o

TRt I <
1) 23, 26, 2
3) 23, 22, 2

,23,'% 2

4)22 23, b5, p2
o)

Q 9w 3567431 wﬁ&a‘ w4217 be &

1) 6435

msﬁmﬁmﬁ?

4)5376

Q.5) % C = 3 s CAT = 24 m FAULT 7
TR I

1) 60 2) 57 3) 64

Q.6) S’k B = 2, MAT = 34, W JOGLEX = ?
it I

1) 70 2) 71 3) 72

Q.7) R A = 2, B = 3 afur arymmot gy srea™ FACE = ?
At IR :
1) 7246 2) 6245 3) 6357

4) 7346

sff Ty sruTdle, Yeghe TTIsHl UHR, ©F 7.3, U hictHl, AT¥Th—¥o00 ooR.
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Q.8) X J = 10 JASMINE = 71 ® ESTIMATE = ?
it SR
171 2) 82 3) 92 4) 91

QI9)TRA=1:AND =19 ®BAT = ?
it IR
1) 22 2) 23 3) 21 4) 20

Q.10) SR A = 1 CAT = 24 W POLICE = ?
Rt IR

1) 57 2 \ \ | /3)f2 4) 59

Q.11) * D = 4 snfui/READ =7,
it I \Y;

»
fo%) - %
1) 32 Co 2)33 &= )7 s

Q.12) ® GECA %42, = HFBD = M~
Tt IR : | 'O\O

1) 9735 ©.2) 7953 3) 7935 (%0 ) 5379

> b

Q.13) X M = 13 sy MAT = 34, ?
e 3R IR 3TheH]

1) 41 2) 2 3) 4 4) 23
Q.14)s% E = 5 HEN = 27 PEN = ?
Tt IR :

1) 53 9) 35 3) 36 4) 63
Q.15) 5% C = 1 CEP = 24, m HUX = ?
it IR

1) 47 9) 49 3) 51 4) 53
Q.16) 5% W = 23, WIN = 46, 7 WAY = ?
it IR :

1) 46 2) 64 3) 49 4) 94

sfiFmer sTuTete, YIS SISl THR, & 4.3, Ui wiel, ath—¥oo oo?. [N 96 I
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Q.17) R P = 16 TAP = 37w CUP = ?

it I :

1) 40 2) 38 3) 36 4) 39
Q.18)SR D = 4 SHE = 32 ® DINESH = ?
it IR

1) 57 2) 52 3) 49 4) 59

Q.19) R E = 5 anfot HOTEL = 12 = LAMB = ?
it IR

1) 28 DT Q10 4) 26

Q.20) 7 A = 1 srfr LATE = 38\ REBUT = ¢

it IR R g
1) 65 03/2) 66 AR 3y64 % 4) 67
~ N =4
Q.21)mA=1,ﬁF=47mMA 0'2
it e °~°l Aﬁ 00
1) 40 o& 2) 66 3) 34 0'3 4) 51
Q22) WA =1 S = 39,6[@ Ny
iRt IR o
1) 64 2) ) 4) 44
Q.23) s MAMMAL 71 vsg 13- 1-T3-T3-1- 12 e forgen s/t @@ REPTILE a1
vIsg AT foIgTer ?
R I
1) 18 - 516-20-9-12-5 2) 18-5-20-16-9-12-5
3) 16-5-20-16-9-12-5 4) 18-5-16-20-9-5-12

Q.24) SR MADRAS 71 9te2 517916 armfur TENANT 21 91ee 41432124 3@ fofger sima

@A @ RMATSN ?
it IR

1) 851353 2) 951363 3) 951462 4) 941562
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Q.25) ¥ PKROK a1 3reg 72962 aatfur KRRPK 7T 9ise 29972 1@ fafger W

@A W NIMLZ =2
it I

1) 74314 2) 91572 3) 51438 4) 45176

Q.26) R HUMANITY =71 9tsg 41526378 amfut NATURE 71 9se 627109 /@ fofge
T t@edter i HUNTER = ?
i IR

1) 416690 2) 426709 3) 416790 4) 462708

Q.27) SR PALE 31 3158 2134,
it IR

T PEARL =?

1) 29530 4) 25430

Q.28) sk CHARA CHLDR]% vee 24859670 W
HIRALAL = ?

it TR
1) 4861551 ) 4685511

Q.29) sk GLOSSAR ? 915968402 @
GEOLOGY =?

qqidt IR :

1) 915692 592 4) 9157591

Q.30) s® LIEUTENANT =t wsg 1232212021411420 7@ feafgen Sma o@@ @

MANGO = ?
it IR

1) 13114715 2) 1311474 3) 14141375 4) 13114157

Q.31) SR PARK =1 3¢ 5394, SHIRT 2T 915 17698 ATt PANDIT 31 9Isa 532068
aran fafgem e e/@@ @ NISHAR = ?
i SeR

1) 266734 2) 231954 3) 201739 4) 261739
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Q.32) st BET = ROD, CAN = SIM smfot MUG = LAN @ MEN =?
it I
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1) LOM 2) OLM 3) MOL 4) LMO
Q.33) Sk MILITARY =T 318 1232456 , @ LIMIT =?
it IR

1) 32124 2) 42123 3) 12324 4) 42125
Q.34) SR Madagascar 3T 91sg 4727879670 T Madras = ?
WRft IR

1) 424290 2) 427 3) 472079 4) 472490

Q 35) s’k PORRIDG 315 EG\QO\DJRRAW @A @ EGPRITSE = ?
1) PERSTIC N 2) PRE ] 3)-PE IG 4) PRESTIEG

Q.36) R ACTOR = ¥15¢ ZXGLI Torfgen eme @
_ 100
PENCIL = =7
it I dé
1) KVMXRO 0 2) KUMW@l 4) KVMXOR
\
Q.37) W DEAN =1 NO e fafEen.eme ﬁ{ =7
it I
1) NOOX 2) XON 3) ONQX 4) XOON

Q.38) R CENTURION 21 visg 325701465 3mfor RANK 2T vreg 1859 srar fafzen
WA W 7859 = ?
it I

1) BANK 2) SANK 3) TANK 4) TALK

Q.39) T DREAM 31 vree 78026 aarfur CHILD 2T ise 53417 1@t fafgen e @@

LEADER = ?
it IR :

1) 102087 2) 102780 3) 102078 4) 102708

sffter sTuTete, e ATEsHl THR, @4 7.3, Ug s, aivtk-voo oo3. [N °° I
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Q.40) ’® LAME 71 sise ODPH zran fafgen sme @ MALE = ?
it I
1) HOPD 2) DOPH 3) OPDH 4) PDOH
Q.41) SR 1986 TmEtdt ~ 0 A > 2fur 2345 IMTST + X V o 310 IS Hehd AT T
fafeen s W A > x +V I g gatg fHaer.
it I .

1) 865324 2) 896542 3) 864325 4) 869243

Q.42) PROHIBITION 71 wsg 68032124205 sran fetfgem et ™
INHIBITION = ?

it IR
1) 2531214205

Q.43) R APPRE @
RECEPTION 20‘

et IR los)
1) 832378365 00 am%m%;{o
3) 832389465 \7 2397645

Q.44) Sk UNIVERSIT m 3@ @ TRUSTY = ?
Tt I
1) 542856 2) 531856 3) 541856 4) 541956

Q.45) ® PRABA 71 stee 27595 attfot THILAK 2T 9se 368451 sr@ ferfgetm s@er @
BHARATHI = ?
il IR

1) 97575368 2) 57686535 3) 96855368 4) 37536689

Q.46) Sk PUTREFY =1 w52 XPQSTRL 3ot NAVIGATE 71 3158 GYMOWYQT
sran fafeem s@e ® AVIARY = ?
it I

1) YPMYLS 2) YMOYLS 3) YMOYSL 4) YOMYSL
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Q.47) s® LIBERALIZATION 7t wsg 34256134918470 @ feoifgen sr@e @
AERATION = ?

qqidt IR
1) 15168470 2) 15186471 3) 15618470 4) 51618471

Q.48) ¥ EXPANSION g1 wisg 248537693 s farfgem s @@ PENSSION = ?
it I
1) 8236793 2) 8237639 3) 8237693 4) 8233769

Q.49) ¥ PREMA 71 vreg 96731 3ran farfge s@er @@ RAMA = ?
it I
1) 6737

4) 6936

Q.50) Sk GRINDER =1 31s¢ 765
TR IR

S ' =
1) 642356 gi 2) 624536 3) 62432@ 4) 623426

o) ENDER = ?
S

ros) o
Q.51) 8 BANGWLORE = ﬁ( ELLORA = ?
it IR : %

3¢
1245538 \>2) 25543% 3) 2458&9 4) 254538
Q.52) s SINGER 71 Y& W GINGER = ?

watdft & :
1) CBIECD 2) CIBCED 3) CBICED 4) CIBECED

Q.53) X DICTIONARY =1 9158 1234256789 & fafgen @« @@ ORDINARY = ?
it I .
1) 57326789 2) 59126789 3) 56126789 4) 58126789
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Answer Key

Q| A0 |[A o0l A0 |A|lo|Aa|oQlaA
Pl 3 4| 2] 3 (314 411|512
> L3 121 | 201 2|1 |42 4522
3 L3 33| 2301 331 |2 |3 4
4 |1 |42 | 243 |33 |4 |3
s L1 | 15| 4 | 2503|352 |45 | 1
6 | 4| 16| 3 3 36~ 2 |46 | 3
7 || 2N 2 | p7/ |4 N |3
8 | 3 | 18/] 4 e8| 2 |38’ 3 | as\| 3
o | 2 | o\ 2 |20 2 0N 4 |45 2
10 | 2 [[2n] 2 é 2 }o 4 |59 3
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| (21. Comparison Coding >

\

|

|

|

|

|

|

|

|

Q.1) Check the following statements : \
\ a) A and B are either of the same age or A is older than B. \
\ b) C and D are either of same age or D is older than C. \
\ C) B is bigger than C. \
| Which of the following conclusions can be drawn from the above statements? |
‘Answer Options : \
1) A is greater than B. |
2) B and D are of same age. |
3) D is greater than C. |
|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

4) A is greater than C. /\
JAlsE |

Q.2) Geeta is prettier thgd Sita but hot as muc/h as R1ta so thep -
Answer Options :

1) Sita is not as \W as-Geeta.| 4
2) Sita is prettiegthan Rita. .

3) Rita is not 1s&ltty as Geeta.
4) Geeta is pre tuﬁ,uthan Rit
Q.3) If A runs less f n B and B can run as fast as C but @ ter than C; So

compared to A, C run§=z----—-, 8\4 A
Answer Options :

1) Slower than A a,)—a'q-{ W

2) are faster than A.
3) As fastas A
4) The information given is not sufficient to decide.

787800"

\
\
|
\
Q.4) Examine the following statements :

A) Okra is tastier than cabbage.
| B) Cauliflower is tastier than okra.
| C) Cabbage is tastier than peas.
| D) What implication follows from the above statements?

‘Answer Options :
|

1) Peas are just as tasty as okra.

2) Peas are as tasty as cauliflower and okra.

3) Cabbage is the least tasty of the four vegetables.
| 4) Cauliflower is tastier than cabbage.

| st sruTétiz, I TS AR, @A 7.3, UL wierl, AMtR-¥oo ooz, [N S2
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Q.5) Note the following statements :
1) A and B are either of same age or A is older than B.
2) C and D are either of same age or D is older than C.
3) B is greater than C.
Which of the following conclusions can be drawn from the above statements?
Answer Options :
1) A is greater than B.
2) B and D are of same age.
3) D is greater than C.
4) A is greater than C.

¢? \nformation incomplete
=

Q.7) If pen < pen¢ibspencil <b which oﬁe following is always
true? 3 00
Answer Options Poe) N

1) Pen > Cap
3) Pencil = hat

@ok

Q
0} Ffll&‘ 4) Penc& at

P * Q means, P is not greater than Q-
P % Q means, P is not greater than Q and not equal to Q.

P $ Q means P is not less than or equal to Q.

P @ Q means, P is neither greater than Q nor less than Q.

Assuming the given statements to be true, find out which of the three conclusions,
I, 11, III, is definitely true and select the correct option for the answer accordingly.
Statements : B % N; N o F; F*H
Conclusion :

I) HSN I F%B
I11) B%H

sff Ty TuTeHe, YR TTESHI |HR, & 4.3, Uga e, Arreh—¥oo oo. [N
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Answer Options :

| 1) Only I and II are true. 2) Only I and III are true.

| 3) Only II and III are true. 4) There is no truth.
\

‘Q.9) Symbols @, $, %, © and * are used as follows.
P © Q means, P is not less than Q.

P * Q means, P is not greater than or not equal to Q.
P $ Q means, P is not greater than Q.
P % Q means, P is not greater than Q and not less.

P @ Q means, P is not less than or equal to Q.

t optlor\eg\ar 1nﬁ }1(6 conc

1@B;BOM; MSK .

\

|

|

[

|

‘ . . . .
| Based on this, four stateme nd foun conc s are given. Conclusions are
|

|

[

|

Answer Options :
\ 1) Only I and

v) 'A # B' means, A is equal to or greater than B.
v)'A® B’, means A is smaller than B.
Below are four statements and two conclusions drawn from them. Assuming the

statements to be true, choose the correct option regarding the desired true
conclusion.

Statements : PO T; TR Y;Y#B; B=D

Conclusion : ) T=B IHYOD

Answer Options :

\ 1) Only I true

\ 2) Only II true

| 3) Only I or II are true

\ 4) Only I and IT are incorrect

| sty sTuTétie, I TS WAR, @ 7.3, UL wier, ATE—goo ooz. IS4
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Q.11) If p > q and r > o then which of the following is true?
Answer Options :
1) pr<qr Q)p+tr<q+r
3)p-r<q-r 4) There is no truth.

Q.12) If a + b is less than ¢ + d and d+e is less than a + b then write the true alternative
with respect to e.
Answer Options :

1) smaller than d 2) smaller than ¢
3)equal to c 4) Same as d
L ——

Q.13) The symbols ', 2, Kagzu}ej Oi2/fhe folqwing sense.
P 2 Q means P isfot less than'Q and greater tham\Q .

o0
Based on this@ifformation, ¢ tion reg@ g the conclusion
drawn from iven statements: N
Statements : ;B=D;D2E %
Conclusion : ﬁw B /@
Answer Options :

3) Conclusion (I) or (II) is corT:
4) Both conclusion (I) and (II) are correct

Q.14) Symbols @, #, %, $, © are used in different meanings as follows.
1) A @ B means, A is not smaller than B.
i1) A # B means, A is not equal to B and A is not less than B.
1i1) A % B means, A is not greater than B.
iv) A © B means, A is not less than B, A is not greater than B.
v) A'$ B means, A is not less than B, A is not equal to B.
Given four statements and three inferences drawn from them, select the correct

option.
Statements : i) J # H nHOT i) TSR iv)R % F
Assumptions : ) J # R I)R#F mHJ#T

sff Ty TuTeHe, YR TSRl |HR, &F 4.3, U whial, Amireh—¥oo oo. (IS5
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Answer Options :
1) Only hypothesis (I) is correct.
2) Only conjectures (I) and (IT) are correct.
3) Only hypothesis (III) is correct.
4) Only conjectures (I) and (IIT) are correct.

Q.15) Symbols @, ©, #, $ and * are used as follows.
P © Q stands for P is not smaller than Q.
P * Q stands for P is not greater than Q and not less than Q.
P @ Q means, P is not greater than Q or not equal to Q.
P $ Q means, P is not greater t

P # Q means, P is not le an %{and [L qual to
Based on this, below/are three s elxle t! d Ihree co

lusions drawn from them.

Statements : H
Conclusion : I @
Answer Options : Co

~
1) Only conclysiofs (I) and %
2) Only concl (IT) and (IlH-are ct.

3) Only conclu () and (IIT) are correct.

,M@T; T§]

Py

Q.16) In the following qu tioWoW # are used in the following

meanings.
U $ V means, U is not greater thairv-
U @ V means, U is not smaller than V and not equal to V.
U # V means, U is not smaller than V.
U © V means, U is not greater than V and not equal to V.
U % V means, U is not less than V and not greater than V.
Choose the correct option regarding the conclusions drawn from the given
statements based on this information.
Statements : A#B;B@S;S$Z;Z%P

Conclusion : ) P@ S IHP%S IIA@S

ofiFTer eruTdtie, gighe ATEsl WUR, & 4.3, ugid wie, avtk—xoo oo3. [N 36N
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Answer Options :
1) Only conclusion (I) is correct
2) Only conclusion (II) is correct
3) Conclusion (I) or (IT) is correct
4) Conclusion (I) or (II) is correct and conclusion (III) is correct

MPSC / UPSC 4y 7887878001/ 7887878002 PSI/STI/ASO

Q.17) Symbols @, #, %, z, and © are used as follows.
A @ B means, A is not smaller than B.
A # B means, A is not smaller than B and not equal to B.

A © B means , A is not greater than B and not less than B.

A z B means, A is not greater ot equal to B.
Below are four state s an threegonc/ls awn from them
Statements : (a) J# H )Tz (d) R%F

D I#T

r&l,;{m@am

an B.

A * B means A is neither sni

A % B means A is neither greater than B nor equal to B.

Statements : P % Q,Q*RandR @ S

Conclusion : ) S % Q IHP@Q IR @ P
Answer Options :

1) Only (II) is true.

2) Only (I) and (III) are true.

3) Only (I) is true.

4) Only (III) is true.

sff Ty TuTeHe, YIghe TTEsRl |HKR, &F 4.3, U hiciHl, ATIeh—¥00 ooR.
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Q.19) Study the given question and select the most appropriate option that describes
the information to get the answer.

After arranging in descending order of weight, select the metal piece which comes
in the third place from S, U, A, D and B.
Information :

(a) A is heavier than S and B and lighter than U which is not heaviest.

(b) B is heavier than S only.
Answer Options :

1) Both (a) and (b) information elements are necessary and sufficient.

2) Only information (a) is su tion (b) is not necessary.

A $ B means
A @ B means
A # B means
Statements :
Conclusion : I)

Which hypothesis/su osiWJeéqa"%.lﬁ.

Answer Options :
1) There is no truth.

2) Only Conclusion (1) is true
3) Only Conclusion (III) is true
4) Conclusion (I) and (II) are true

Q.21)
Statements :P#Q @R OSST
Conclusion : )P @ T IDT@Q

Answer Options :
1) Conclusion (I) True
2) Conclusion (II) True
3) Conclusions (I) and (II) are false
4) Both conclusion (I) and (II) are true
ofiFTer eruTdtie, gighe TSl TUR, & 4.3, ugid wie, aivte—xoo oo3. [HIN18S N
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Q.22)
Statements : T#R; R % H; H@F
Conclusion : ) H@ T IDFOT

Answer Options :
1) Conclusion (I) True
2) Conclusions (I) and (II) are true
3) Conclusions (I) and (II) are false
4) Conclusion (II) True

PSI/STI/ASO

* P @ Q means P is less than or equal to Q.

Q.23) (o]

Statement a# K; K

Q.24)
Statements : L # O; O % V;, VA E
Conclusion : ) LAE  1)O%L I vV#0
Answer Options :
1) Conclusions (II) and (IIT) are correct
2) Conclusions (II) and (III) incorrect
3) All absolutes are ineligible
4) Only conclusion (I) incorrect

sff Ty TuTeHe, YR TTESHI |HR, & 4.3, U e, Arreh—¥oo oo. [N 80N
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* A 2 Z means A is neither greater nor less than Z.
A 1 Z means A is neither greater than nor equal to Z.
A # Z means A is neither less than nor equal to Z.
A § Z means A is equal to Z.
A % Z means that A is greater than and equal to Z.

Assuming the above statements to be true, question no. 25) Answer f.

Q.25)
Statements : L#B; B1D; DT E
Conclusion : [) L#D IHDETB
Answer Options :

1) Only conclusion (II scorre(}\ \ | / /

2) Only conclusion/1]) is incorrect

3) Conclusions (I) and (II) ineorr; 8
re COITECt | 4

(’g not greater than H.
G $ H means thatG is not 1 an to.H.

G © H means ot greater than H and not equal.

G % H means th is not grea 1 to H
G * H means G is e?smaller tha

So based on this sont staw Wn

correct conclusion from

Q
%
(e,
%
N
Oo

re given. Identify the

Q.26)
Statements : V@ 1% K© A * S
Conclusion : ) V@ A HV@wl IHI*sS

Answer Options :
1) Conclusions (II) and (III) are correct
2) Only conclusion (II) is correct
3) Conclusions (I) and (IT) are correct

4) Conclusions (I) and (III) are correct

sfiFTer eruTdtie, gighe TSl TUR, & 4.3, Ui wie, avtk—xoo oo3. [0 NN
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* S =T—>S is neither smaller nor bigger than T.
S $ T —=>S is not less than or equal to T.
S % T—>S is not greater than T.
S * T =S is not greater than or equal to T.

Assuming the above statements to be true, question no. 27) Answer f.

Q.27)
Statements : L*M; M%N;N#R; R=V
Conclusion : [) L=R IHM*V

Answer Options :

1) Only conclusion (I) is

i er than Y. q
X%Y—>Xisn t‘gnaller thané. | &
Assuming the abo stamlﬁ'la!?e gﬁﬁl@gﬁt
Q.28)

Statements : R * J; J#M; M © P
Conclusion : [) R * P HP@J
Answer Options :

7 28) Answer f.

1) Only conclusion (I) is correct

2) Only conclusion (II) is correct
3) Conclusion (I) or (II) is correct
4) Both conclusions are incorrect

sff Ty TuTte, YR TTESHl |HR, & 4.3, Ugia e, Amreh—¥oo oo. (N9 1IN
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* A* B —> Aisnot smaller than B.
A d B = A is neither greater nor equal to B.
A© B —> A is neither smaller nor bigger than B.
A # B —> A s not greater than B.
A @ B —> A is not less than or equal to B.
Answer the following question from this information.

Q.29)
Statements : P#Q; QO R; R© S
Conclusion : ) S@PI) P6 R

Answer Options :

1) Only I correct
2) Only II correct
3) I and II are co

AORE il Y
Conclusion : ) D B I)A *C liHD
(o 2]

1) Only (I) follo

4) All of the above follows.

Q.31) In the following questions the symbols ©, #, 8, $ and * are used as follows.
A © B means A is smaller and equal to B.
A * B means A is neither greater nor equal to B.
A $ B means A is not smaller than B.
A # B means A is not greater than B.
A 6 B means that A is neither less than nor equal to B.
Assuming the following statements to be true, decide which of the following
conclusions I, II, III follows from the statements.
Statements : AOB; BoC;C*D
Conclusion : ) A5 B IHCOA IIMHA © B

sfiFTer eruTdtie, gighe ATEsl TUR, & 4.3, Ui wie, avts-—xoo oo3. [N



T TN AheHT

MPSC / UPSC 4y 7887878001/ 7887878002 PSI/STI/ASO

IS0 9001-2015

Answer Options :
1) None follows.

2) Only (I) and (II) follow.
3) Only (III) follows.
4) All (1), (IT) and (III) follow.

Q.32) Symbols $, ©, #, % and @ are used as follows in the following questions.
A § B means A is greater than or equal to B.
A © B means A is smaller than B.
A # B means A is neither smaller nor bigger than B.

Answer the folloy/ing questlb\g assumerhe above statements to be true.

Statements : ). T
orrect \‘

1) Only con lusu)n (Disc

Conclusion :
Answer Options

and (I) are incorrect.

=)

o0

2) Only cong¢l{ifion (11) is % 5
3) Conclusi and (1) are-cotre N
At &

©. W
éeater than Y. .
e e T TER S H],

X @Y -> X is smallerthan Y.
X ©Y -> X is greater than Y.
X % Y -> X is not smaller than Y.

Assuming the above statements to be true, question no. 33) Answer f.

Q.33)
Statements : S% T; TO U; U *V
Conclusion: [) S© V MHU@S

Answer Options :
1) Only conclusion (I) is correct
2) Only conclusion (II) is correct
3) Conclusion (I) or (II) correct
4) Both conclusions are correct.

sff Ty TuTte, YR TTESRI |HR, & 4.3, Ugia e, Amreh—¥oo oo.  [HIN193 I
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Q.34) In the following question symbols $, @, #, 6 and * are interpreted as follows is
P $ Q means P is not smaller than Q.
P # Q means P is not greater than Q and not equal to Q.
P 0 Q means P is neither greater than Q nor less than Q .
P @ Q means P is not smaller than Q and not equal to Q.
P * Q means P is not greater than Q.
Assuming the given statements to be true, find out which of the four conclusions
drawn therefrom is/are true and select the correct answer option accordingly.
Statements : H @ T; T#F;FOE;E*V
Conclusion : ) V§ P IHDE@T IIHH@V IV)T#V
Answer Options :

1) Only (1), (I) and (III)

Q.35) ~ o0
A $ B means A G38maller th% B
A # B means %)t smaller than B: N
A % B means thatA is neither greater nor less than B. %

er than B &a‘ /\

A @ B means A is Rot greater than B. o

Answer the following emémmm'

Statements : L @ R; R % *N

Conclusion : ) L @ N IHN§SR
Answer Options :

statements to be true.

1) Only conclusion () is correct
2) Only conclusion (II) is correct
3) Conclusions (I) and (II) are correct

4) Neither conclusion is correct.

sfiFTer eruTdtie, gighe TSl WUR, & 4.3, Ui wie, aivre—xoo oo3. [N 94N
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Q.36)
P 8 Q means that P is not greater than Q.
P % Q means that P is not less than or equal to Q.
P © Q means that P is not greater than or equal to Q.
P * Q means that P is neither greater nor less than Q.
P $ Q means that P is not smaller than Q.
Statements : KdD; DOW; W*Z
Conclusion : ) Z % K IHKOW

Answer Options :
1) Only I 2) 11 only
3)Iand II /TI)B\Ot(hsei\ncorrect

\ /

MPSC / UPSC 4y 7887878001/ 7887878002 PSI/STI/ASO

V177

’ (=
“tht P is neither gre or iﬁhan Q. o0
not grea . 5
rrect conclusion forthe following statéme
K;K@N;N*R,R#W (%)

Answer Options : ﬂ
bren BT SRRy

P % Q mea
P * Q mean

Statements :
Conclusion :

@N

HI&IV

Q.38) Identify the correct one,\_/

Statements : M <T<V>S>K
Conclusion : ) M <V IHDT>=K
Answer Options :
1) Only conclusion (I) is correct
2) Only conclusion (II) is correct
3) Conclusions (I) and (II) are correct
4) Both are inappropriate.

Q.39)
Statements : R=1<K <A>S

Conclusion : [) R > K IHDI<R I K>A

sff Ty TuTeHe, YIghe TTEsRl |HKR, &F 4.3, U hiciHl, ATIeh—¥00 ooR.
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Answer Options :
1) Conclusions (I) and (III) are correct
2) Conclusion (II) correct
3) Conclusion (II) or (III) correct
4) All conclusions are incorrect

Q.40)
Statements : S>M<Y=Z>F>T
Conclusion : [) S>F IHY>T IHY>T

Answer Options :

1) Only conclusion (I) is corr
2) Only conclusion (IT) j correéx
(IT).are ¢o

3) Conclusions (I) a ec\ | / /

and (III) are % -
a

4) Conclusions (I

Q.41)

Statements :

Q.42) Choose the correct concluMg statement.

Statements : P<Q=R<S<T

Conclusion : [) Q<T I P<R
Answer Options :

1) Only I correct 2) Only II correct

3) Both are correct 4) Both are incorrect
Q.43)

Statements : A=B<C<D<E<F

Conclusion : )A>F IH)D<B I C>E

sfiFTer eruTdtie, gighe TSl WUR, & 4.3, ugid wie, aivtk—xoo oo3. [N196
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Answer Options :
1) Conclusions (I) and (IIIT) are correct
2) Conclusions (I) and (III) incorrect
3) Conclusion (II) correct
4) Conclusions (1), (I) and (III) incorrect

Q.44)
Statements : P>Q>R>S=T
Conclusion : ) R=T MHP<S myQ>T

Answer Options :

1) Only conclusion (I) and (II) are correct

Q.45) Some state
Which of them is
Statements
Conclusion
Answer Options

them are given below.
tive.

52 Q=R<S=T P
:%bQH)P

2) Conclusio

orrect
3) Only conclusyon (I) is correct

4) All conclusions

Q.46) Some statements are giMns based on them are given below.

Which of them is the correct conclusion/identify the correct alternative.
Statements : H=1>J>K=L>M
Conclusion : ) M <1 1) H>K nnL>1I IVyM<]

Answer Options :

1) All conclusions are correct
2) Conclusion (IT) correct

3) Only conclusion (I) is correct
4) Conclusions (1), (IT) and (IV)

sff Ty TuTte, YR TTESRl |HR, & 4.3, Ui e, Amreh—¥oo oo. [N 97 I
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Answer Key

Q |A [Q A Q| A | Q A Q| A
1 4 |11 [1 |21 |3 |31 [3 |4 |3
2 1 |12 ]2 |23 |32 |4 |4 |3
3 |2 |13 ]2 |23 |4 33 ]2 |43 |4
4 | 4 |14 |4 | 243 |34 |3 |44 |4
5 |4 |15 |4 | 253 [35 ]2 |45 |1
6 | 4 |16 |4 26572 |36 |3 |46 | 4
7 L2 |73 el |4 | 2
8 | 2 |18 72 2 (38 | 1
9o |3 |19/2 [29] 3 39 | 4 \
10 | 4 |20 |1 0|2 |40 | 2 \

N 'J

(o o]

~

R

Q

o,

7
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(30. Water Images>

Direction : In each of the following questions you are given a combination of alphabets and/ or
numbers followed by four alternatives (a), (b), (¢) and (d). Choose the alternatives which is

closely resembles the water image of the given combination.
Q.1) PIONEER

Answer options :

o bIOMEEE o BIOMAdR
» A4ANOIY « None of these
e N

M) WIEBISSIPPI

[V

<3)WISSISSIbe @ WI22IbbISSI
.3) NAME oo ~]
! A)nswer options \a!‘ g )
() NA{N}E Fl-e:—a ]AVP’:I/E

& NVME @ f%N_‘?’,WH
Q.4) CAT2015 %

Answer options :

0 CVTS015 o CV L3015
@ CV.L3012 @ CALS0I?

Q.5) destination

Answer options :
o g62flUaflou o ge2fluajiou

» g6sSfIvafiou « none of these
ofi e sTaTdHe, HIgHe TEEHt WHR, o 7.3, U wieHl, ATRR—¥o0 ooR. [ ABE ]
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Q.6) Choose the alternatives which is closely resembles the water image of the given combination.

Question Figures :

Answer Figures :

. 7
/ /
o/ o NV e
Q.7) Question Figure% i CA
=)
o0
Aﬁ 5
N
L &
Answer Figures : \0\ o 02T A
| [
\Vi A
V V
] L
(1 () 3) “)

Q.8) Question Figures :

L N
L NN ]
BB B MM
BB N M

sfrer sraTéie, WHeRe errEEd TR, 9 H.3, U wierl, AEE-%oo oog. | Py
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Answer Figures :

(1

)

Q.9) Question Figures :

A
“COMMISSION” 1) NOISSININOD
| (2) CONNI22I0U
A\ (3) commrezion
- (4) MIOISSININOD

.

nswer Figures :

Answer options § ﬁ
) bIPﬁZbﬂ%bvﬁ‘bﬂ

3) b]b‘\d/Sbﬂ F,l‘a:q-b]bﬁgbﬂ

Q.{izlfv?izfptions : W/
0 bVYIUS0 bANSO

3 BYIN20 @ PANSO

Q.12) MANTRI

Answer options :

o WVIUTEI o WV N.LEI
» WAN.LEI @ INAN.LEI

N
Q.10) PIPA2PU / C%v : - %\

T eraTéte, PHehe oIEsl TAR, o H.3, UL shieHl, AREh-%00 0oR. 7
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Q.13) REASONING

Answer options :

0 BEV20UIUC o BaV20NINC
» BAVSONING « HEASONING

Q.14) NEXA

o NEXV o UEXV

» NEXA /NQXXEH/I

Q.15) Choose the altem%ich ig\os¥1y| reﬁe?(bles the water image of the given

combination.

\ ¥ )4
Answer Figures\ol\

(1) 2 3) 4)

Q.16) Question Figures:

%

&

sfrer sraTéie, WHeRe errEEd TR, 9 H.3, U wierl, AEE-%oo oog. I 27
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Answer Figures : /\ .

%f"\e“&

Answer Figures :

(1) 2 3) 4)

T eraTéte, PHehe oIEsl TAR, o H.3, UL shieHl, AREh-%00 0oR. [ PR |
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Q.19) Question Figures :

Answer Figures :

R AN 25

(M) Pl @)

\ /
Q.20) Question Figures : / \\ \ l / / ,

2

oo

&

Answer Figures : \6;5’ g

O

(1) ToO— Q) )

Q.21) Question Figures :

7

sfer Wﬁﬁ?, W SIS '{Tl:ﬁ'{, o #.3, uga ?slﬁﬂ:ﬁ', AR —%00 00R. [ PR
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Answer Figures :

RN
+ +

+

(1) (2) 3) “
Q.22) Question Figures :

1%

N L
Answer Figures : / ~ ﬁ_ _
) —/L—

= K TR

Fot o
b
1

e
b
bt

\© @) G) &/
Q.23) Question Figure\\‘:@) W &
A\

Answer Figures :

G,

(1 2 ) “4)

s araTéiie, YR s TR, oF H.3, TS HieH, ARTH—¥oo oog. [ R
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Q.24) Question Figures :

Answer Figures :

N[N
/\(2)\|//h\

Q.25) Question Flgu S:

Q
(=
o0
N~
(o0
® I
Answer Figures : 0
o, WAXT A
6] ) 3) 4
Answer Key
Q A | Q A Q A Q A | Q A
1 2 6 3 11 1 16 1 21 2
2 1 7 3 12 1 17 2 22 4
3 2 8 3 13 1 18 4 23 2
4 3 9 2 14 1 19 1 24 1
5 1 10 | 2 15 4 20 2 25 2

sfrer sraTéie, WHeRe errEEd TR, 9 H.3, U wierl, AEE-%oo oog. [ Pk |
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